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Each sentence given below is divided into four 

parts. Out of four, one part may or may not have 

an error. You have to find out the erroneous part.
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The city police have launched (A)/a hunt to 

nab a gang which stole (B)/ at least Rs 48 

lakh from (C)/various SBI ATMs with cash 

deposit machines (D)/ No Error (E)

1. A

2. B

3. C

4. D

5. No Error
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Fresh cases of suspected illegal felling of trees 

have (A)/ emerged from across Kerala as the 

investigating teams (B)/ are poring on official 

records and visiting (C)/the sites to ascertain 

the magnitude of loss (D)/ No Error (E)

1. A

2. B

3. C

4. D

5. No Error
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Israel is set to swear in a new government that will 

(A)/ send Prime Minister Benjamin Netanyahu into 

the (B) /opposition after a record 12 year in office 

and a political (C)/ crisis that sparked four elections 

in two years (D)/ No Error (E)

1. A

2. B

3. C

4. D

5. No Error
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Each question below has one blank, which is 

indicating that something has been omitted. 

Find out which option can be used to fill up the 

blank in the sentence to make it grammatically 

as well as contextually correct.



IBPS PO PRE MOCK TEST DAY 2

The lack of a car parking space in the 

project was an _______, and the addition of 

one would boost the segment's popularity.

1. Zenith

2. Impediment

3. Innovation

4. Integrity

5. Inertia
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While many are struggling to breathe properly 

in masks, others have been complaining of 

skin infection owing to ________________ 

sweating.

1. Consistently

2. Pioneering

3. Obsolete

4. Profuse

5. Affable
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I thought the famous dancer might be 

__________, but he seems very humble about 

her talent.

1. Contradicting

2. Dynamic

3. Vogue

4. Knack

5. Conceited
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The Home minister appeared to ____________ 

the findings of a US-based firm’s claims that 

the massive power outage in Mumbai in 

October last year was the result of sabotage 

by Chinese hackers.

1. Obdurated

2. Scorn 

3. Dissimilar

4. Corroborate 

5. Reverent
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During the safari, the guide warned us we 

might _______ a couple of dangerous animals.

1. Facilitate

2. Exhibit

3. Eject

4. Affiliate

5. Encounter
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A sentence is divided in five parts namely 

(A), (B), (C), (D) and (E). Rearrange the 

divided parts in the proper sequence to 

form a meaningful sentence.  And answer 

the question accordingly.
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And what HR is actually (A)/ when there is 

often a disconnect (B)/ tasked to deliver (C)/ 

in fact, problem can arise (D)/ between what 

we expect from HR (E)

1. CADBE

2. BDEAC

3. DEBAC

4. DBEAC

5. BACDE
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About a hotel (A)/ from them since they have 

never been (B)/ there are some haunted 

stories floating around out there (C) but we 

prefer to stay away (D) proven to have 

happened (E)

1. ADECB

2. CADBE

3. BCDEA

4. DECAB

5. BDCEA
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Package over the next five years (A)/ the 

rising temperature (B) developing countries 

will (C)/ to help them adapt to (D)/ want a 

significant (E)

1. BDCEA

2. EADBC

3. BCEAD

4. CEADB

5. EACDB
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And has a battery (A) on an electrical motor 

(B) an electrical vehicle operates (C) 

instead of a fuel tank (D) instead of an 

internal combustion engine (E)

1. BEADC

2. EDCBA

3. CBEAD

4. ABDEC

5. BCDEA
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Vaccine inequality and (A)/ curb global 

warming, end (B)/ they have to start thinking 

and acting more multilaterally (C)/ sort an 

economic recovery (D) The Italian PM is 

saying that if G20 leaders want to (E)

1. EDBAC

2. BCAED

3. CEBAD

4. ACDEB

5. EBADC
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In each of the questions given below, four words 

are given in bold. These four words may or may 

not be in their correct position. The sentence is 

then followed by options with the correct 

combination of words that should replace each 

other in order to make the sentence grammatically 

and contextually correct. Find the correct 

combination of words that replace each other. If 

the sentence is correct as it is, select ‘E’ as your 

option. 
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Acceptable (A) action is needed to 

confidence (B) inclusive health system that 

enhances communities build (C) to seek 

healthcare and provide real (D) health 

service.

1. Only B-C

2. Only A-C

3. Both (A-B) and (C-D)

4. Both (A-D) and (B-C)

5. The statement is correct
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Recognizing the down (A) of technology to 

drive inclusion (B) at a massive scale, the 

state is doubling power (C) on technology to 

reach (D) more citizens and serve them 

better.

1. Only (C-D)

2. Both (A-D) and (B-C)

3. Only (A-C)

4. Only (B-D)

5. The statement is correct
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Ailments (A) diagnoses can be suffered (B), 

India health care system has, for long, fatal 

(C) from several erroneous (D) for which no 

effective solution has yet been found.

1. Both (A-B) and (C-D)

2. Both (A-D) and (B-C)

3. Only (B-C)

4. Only (A-D)

5. The statement is correct
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The aim is to use medical monitoring (A) 

that is able to be easily carried or moved 

(B), to make interactions (C) among records 

(D) of public health.

1. Only (B-D)

2. Only (A-D)

3. Only (A-B)

4. Only (B-C)

5. The statement is correct
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While employees may feel HR processes 

should wrong (A) workplace right (B), 

company leadership may think (C) that 

the HR department is there to protect (D) 

the organizational goals.

1. Both (B-C) and (A- D)

2. Both (A-B) and (C- D)

3. Only (A-B)

4. Only (A-D)

5. The statement is correct
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In each question below, four words printed in bold 

type are given. These are numbered (A), (B), (C) 

and (D). One word printed in bold might either be 

wrongly spelt or inappropriate in the context of the 

sentence. Find out the word that is inappropriate 

or wrongly spelt, if any. The number of the word is 

your answer. If the words printed in bold are 

correctly spelt and appropriate in the context of the 

sentence then mark (E), i.e. 'All Correct', as your 

answer.
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Blood clots are clumps (A) of a naturally 

occurring (B) protein called fibrin which 

can accummulate (C) in a blood vessel 

(D).

1. Clumps

2. Occurring

3. Accummulate

4. Vessel

5. All are correct
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The reason (A) why everyone from 

children to senior citizen enjoys (B) tap 

dancing so much is because it is 

careless,(C) fun, noisy and creative (D).

1. Reason

2. Enjoys

3. Careless

4. Creative

5. All are correct
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